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1. How can you change the name of an Excel
worksheet ?

(A) Add a question mark (?) at the end
of the filename while saving the
workbook

(B) Click on_the worksheet tab while
holding the control key and type a
new name

(C) Double click on the worksheet tab
and type a new name.

(D) Choose the ‘save as’ option from the
file menu

2. In computer storage, information is
organized in :

(A) Rows and columns

(B) Blocks

(C) Tracks and sectors

(D) Tables

3o acts as a temporary high-speed

holding area between memory and the
CPU, thereby improving processing
capability.
(A) Cache Memory
(B) ROM
(C) RAM
(D) Virtual Memory

4.  Which application software enables you to
create efficient slideshow presentations ?
(A) MS Excel
(B) MS Outlook
(C) MS PowerPoint
(D) MS Paint

5. What type of manual explains how to use
a software program ?

(A) Program (B) System
(C) Software (D) User
6. Which of the following is not a pointing
device ?
(A) Joystick
(C) None of these
7. 1 Gigabyte = ?
(A) 1024 bits
(B) 1024 bytes
(C) 1024 kilobytes
(D) 1024 megabytes

(B) Trackball
(D) Mouse
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10.

11.

12.

13.

14.

‘A’ represents in this Address :
‘A:\FM\Tutorial\Holiday.bmp’

(A) Top-level Folder

(B) Drive Name

(C) Subfolder

(D) File Name

What are the dots that compose the image
of a digital photograph called ?

(A) Digital points

(B) Points

(C) Pixels

(D) Resolution points

What do we call the process of
manipulating data to create information ?
(A) Analysis

(B) Feedback

(C) Processing

(D) Programming

Which keys can be used in combination
with other keys to perform shortcuts and
special tasks ?

(A) Caps lock, Num lock

(B) Control, Alt

(C) Delete, Insert

(D) Function, Toggle

What part of the CPU coordinates the
activity of all the other computer
components ?

(A) Arithmetic logic unit

(B) Coordination board

(C) Control unit
(D) Word processing

How many values can be represented by a
single byte ?

(A) 4 (B) 16

(C) o4 (D) 256

What key do you press to make the number
pad act as a directional arrow ?

(A) Arrow lock (B) Caps lock
(C) Numlock (D) Shift
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15.

16.

17.

18.

19.

20.

21.

What are the two types of output devices ?
(A) Keyboard and Mouse

(B) Monitor and Printer

(C) Windows XP and Linux

(D) Floppy and CD
What does CRT stand for ?
(A) Cathode Rays Tube
(B) Clarity Rays Tube
(C) Crystal Rays Tube
(D) None of These

What is the purpose of a firewall in
computer networks ?

(A) To prevent unauthorized access

(B) To store large amounts of data

(C) To create backup copies

(D) Tomanage email accounts

Which of the following is not a type of
computer network ?

(A) LAN (Local Area Network)

(B) WAN (Wide Area Network)

(C) VPN (Virtual Private Network)

(D) CPU (Central Processing Unit)
What is the function of a modem in a
computer setup ?

(A) To convert digital signals to analog
signals

To display graphics on the screen
(C) To store files temporarily

(D) To process mathematical calculations
Which of the following is not related to
MS-Word ?

(A) Clip Art

(B) Header and footer

(C) Presentation

(D) Bookmark and Hyperlink

What is the correct example of a cell
address in MS Excel ?
(A) 45AX

(C) AI2AX

(B)

(B) AX145
(D) 11BZ12
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22,

23.

24.

25.

26.

27.

28.

29.

You would use ............. software to create
spreadsheets, type documents and edit
photos.

(A) application

(B) system

(C) utility

(D) operating

What is used for connecting peripheral
devices to your computer ?

(A) WAP (B) Worm

(C) Firewall (D) USB
Which DOS command is used to list all
files and subdirectories contained in a
specific directory ?
(A) MD

(C) CLS

(B) DIR
(D) CD

What is the short key to cut the selected
text in a document ?

(A) Cul+V (B) Ctrl+P

(C) Cul+C (D) Cul+X

Which topology required a central
controller or hub ?

(A) Mesh (B) Star

(C) Bus (D) Ring
ASCIIis a(n) ..cccovvvennnneee. .

(A) Numbering system for representing

numbers with decimals

Character representation standard
common in older mainframe
computers

Symbolic programming language that
directly =~ represents  machine
instructions

Encoding standard used to represent
letters and characters

Which of the following is not a network ?
(A) Local Area Network

(B) Wide Area Network

(C) Optical Fiber

(D) All are networks

High Resolutionll computer monitors will
have :

(A) High dpi

(B) Low dpi

(C) 256 colors

(D) Resolution is not measured in dpi

(B)

©)

(D)

Set-A

QCA June-2024

22,

23.

24.

25.

26.

27.

28.

29.

3 TSI 99H, SHES 2RT & 3R

IS FUIGd %A & FA oo TR

1 YA H4 |

(A) TEAHIA

(B) Ta=H

(C) Ffeferd

(D) ST .

TS TR R ATh FHL H e
fereenT STANT fomen ST © 2

(A) WAP (B) =

(C) wEEEA (D) USB

et fafere seReed § Ang 9t wEe

Y

Td H9 SPREY & FHEg 0 & fou
ferd DOS AT k1 YA foran ST & 2

(A) MD (B) DIR

(C) CLS (D) CD

frelt g&aEas H 9afd RE &l &e
If FNME ?

(A) Cul+V (B) Ctrl+P

(©) Ctl+C (D) Ctrl+X

form ISt & fou ssa faeew a1 &

I YT Bl © 7

(A) ST (B) dm

(€ == (D) R

ASCITTEF oo 2l

(A) TS ® ¥HEd ¥ TR & fag
et faem

(B) =S gfaHfE daFe S U JT%A
FEl § oM ¥

(C) dishIcaes TRNTHET Aren S &Y Jei
fdsit =1 gfafafece st ®1

(D) THIFET e fSTeht SUFRT 18l iR
=07 k1 < & feru fwa S #1

frefafed o 9 e S Tel § ?

(A) el TfEn Seas

(B) dEE TRAT e

(C) 3iffichal HEeR

(D) Gt Jeae ¥

B RSieae™ 11 g A e F ... i

(A) =9 i

(B) HH ST

(C) 2563

(D) TiSifege™ =i SidtenE # & a1 < &

TP-1 | Contd.




30.

31.

32.

33.

3.

3s.

36.

What should be used if a company wants
to include its company name and logo at
the bottom of every page of a brochure ?

(A) Header (B) Macro

(C) Footer (D) Footnote
The screen background is known as the :
(A) Application (B) Window
(C) Desktop (D) Frames

All of the following are examples of storage
devices except :

(A) Hard disk drives (B) Printers
(C) Floppy disk drives (D) CD drives

Computers that are portable and convenient

tor users who travel are known as :

(A) Super computers (B) Laptops

(C) Minicomputers (D) File servers

Hypertextisa:

(A) Text stored in the memory of the
computer

(B) Text displayed on the screen of the
computer

(C) Special text used in developing

Internet developing package

A system of managing textual
Information by creating associations
between different documents

If you change Windows 98 to Windows
XP, you are actually performing :

(A) Upstart (B) Upgrade
(C) Update (D) Patch

With respect to RAM and ROM. Which
of the following statements are true ?

(D)

(i) ROM s Real optical memory.

(i) RAM stores the instructions you are
currently working on.

(i) ROM stores the BIOS

(iv) RAM allows the user to read and
write data.

(v) RAM and ROM lose their data when

the power is turned off.

Choose the correct answer from the options
given below :

(A) (1), (@1v)and (v) only
(B) (i), (ii1) and (iv) only
(C) (), (i1) and (iii) only
(D) (ii), (iv) and (v) only
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37.

38.

39.

40.

41.

42,

43.

A computer program that converts an entire
program into machine language at one time
is called a/an :

(A) Interpreter (B) Simulator
(C) Compiler (D) Numbers
Which of the following displays the
contents of the active cell ?

(A) Activecell

(B) Formula bar

(C) Menu bar

(D) Name box

Programs such as Mozilla Firefox that serve
as navigable windows into the Web are
called :

(A) Hypertext

(B) Networks

(C) Internet

(D) Web browsers

What type of e-commerce is being used
when a student buys a computer from
Dell.com ?

(A) B2B (B) C2C

(C) B2E (D) B2C
Which of the following groups contains
graphical file extensions ?

(A) JPG, CPX, GCM

(B) GIF, TCF, WMF

(C) TCP, JPG, BMP

(D) JPG, GIF, BMP

Which of the following has the smallest
storage capacity ?

(A) Zipdisk

(B) Floppy disk

(C) Hard disk

(D) CD

What term is commonly used for the
printed output from a computer ?

(A) Hard Copy

(B) Soft Copy

(C) Copy

(D) Paper

Set-A

QCA June-2024

37

38.

39.

40.

41.

42.

43.

TH & T S TE TS H R T
aﬁiﬁwﬁwﬁaﬁﬁm% ........
el S E

(A) TR (B) faga=
(C) HUBeR (D) =R
frfafea § 9 sF afswan 99 w9
T TERa FA T ?

(A) TfRa da

(B) HIHa SR

(C) ¥R

(D) Y s

IS R S W™ S 99§ A
%mﬁaﬁwﬁ@%wﬁ ™ H T, FHEd
(A) TERIRZ

(B) T

(C) 3T

(D) &9 S8R

o &g B Dell.com 9 EIFQET TEdr %,
a ﬁgﬁ YHR B §-h(EE 1 ST foman
We ?

(A) B2B (B) C2C

(C) B2E (D) B2C
Freafafea & 9 fFa g ¥ mitrea wEa
THFISYH A ¥ ?

(A) JPG, CPX, GCM

(B) GIF, TCF, WMF

(C) TCP, JPG, BMP

(D) JPG, GIF, BMP

Trafafea § 9 feas! Yuer e Te-
FAE ?

(A) fu few

(B) vardr fe&h

C) e fe=n

(D) et

FER W Higd oMeeqe & fow sTaR m
fore vIsg 1 STEE T ST ® 2

(A) BT Il

(B) % il

(C) wfafafa

(D) TS

TP-1 | Contd.




44.

45.

46.

47.

48.

49.

50.

51.

In a hard disk, what are tracks further
divided into ?

(A) Cloud (B) Heads

(C) Sectors (D) Vectors
Which keys on a computer keyboard are
known as Special keys ?

(A) Standard keys

(B) Navigation keys

(C) Ctrl, Shift, Del & Insert

(D) Functions keys

Which of the following refers to dangerous
programs that can be ‘caught’ of opening
E-mail attachments and downloading
software from the Internet ?

(A) Utility (B) Honey Pot
(C) Virus (D) Spam
Which of the following is used in

MS-PowerPoint, in order to see all the
slides on one screen ?

(A) View, Slide Sorter

(B) View, Slide

(C) View, Master

(D) View, Slide Show

HTTP stands for :

(A) HyperText Transfer Protocol

(B) HighText Transter Protocol

(C) HyperTechnical Transfer Protocol
(D) HyperText Test Protocol

While working with MS-DOS, which
command transfers a specific file from one
disk to another ?

(A) Copy (B) Time
(C) Date (D) Rename

The default extensions of Microsoft Word
2007 and Microsoft Excel 2007 files are :

(A) .doc, .xsl (B) .docx, .xIsx
(C) .doc,.xml (D) .docx, .xml
Which of the following is used to browse

Internet ?
(A) Skype
(C) Facebook

(B) Google
(D) Firefox
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52.

53.

54.

5S.

56.

57.

58.

59.

A person who used his or her expertise to
gain access to other people's computers to
get information illegally or do damage is a :
(A)
(B)

Spammer
Hacker
Instant messanger

Programmer

A is a set of rules.

resource locator

hypertext

protocol

(D) URL

Each Web address is actually a series of
numbers, which is usually called as :

(A) Domain Name (B) URL

(C) HTML (D) IPaddress
What is the full form of USB ?

(A) Universal Security Block

(B) Universal Security Bus

(C) Universal Serial Block

(D) Universal Serial Bus

Which of the following is an intersection
of arow and column in a spreadsheet ?
(A) Worksheet (B) Address
(C) Cell (D) Formula

The main web page of a website is also
known as :

(A) Icebreaker Page
(B) Home Page

(C) Contents Page
(D) Introduction Page
What do we call the process of
manipulating data to create information ?
(A) Analysis

(B) Programming

(C) Feedback

(D) Processing

Which of the following is an example of
an input device ?
(A) Speaker
(C) Scanner

(B) Projector
(D) Printer
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60.

61.

62.

63.

64.

65.

66.

............ function is done with the help of
‘Ctrl+P’.

(A) Project (B) Paste

(C) Print (D) Preview
Choose the odd one out :

(A) Excel (B) Power Point
(C) Mouse (D) Word
................ is always a part of an E-mail
address.

(A) Angular Bracket (<)

(B) Space ()

(C) Atsign (@)

(D) Period (-)

Firewalls are used to protect against :
(A) Fire

(B) Hacking

(C) Data-driven attacks

(D) Cyber attacks

In MS- Word ‘Gutter’ is related to :

(A) Orientation (B) Pagesize
(C) Margins (D) Equation
Consider the following definitions :

(i) Create and print a batch of
personalized letters
(i) Challenge response mechanism

(ii1) Series of commands or instructions
(1), (1) and (iii) are related to the following
respectively :

(A) Hyperlink, Macro, Captcha

(B) Macro, Mail merge, Wizard

(C) Captcha, Mail merge, Hyphenation
(D) Mail merge, Captcha, Macro
............. is the MS-Excel 2010 tool that
works backward from an objective to
compute an unknown value.

(A) Boolean Operator

(B) Mail Merge

(C) Goal Seek

(D) Bookmark
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faom i . '

(A) A (B) UeRw@Ee

(C) W™ (D) g

o UM S-Hel Y9 o1 T feedn g
|

(A) HIT SHe (<)

(B) ()

(C) TR (@)

(D) sEfH (-)

HERE 1 STAN fhad s & forg foen

A ?

(A)

(B) ®f®m

(C) Sa-garfed g9t

(D) HER g9
eE-a€ 4 ‘e’ fored gefia ® 2
(A) SITEyH (B) T3 ST&HR
(C) =S (D) SFITH
frafafea gRyumet w fa=r i
(i) Wﬁwwéﬁwaﬁt

(i) AT gfafean ot
(i) TR a1 ST w1 e
g), (ii) 3R (iii) aen: Fr=fafea @ gefa

(A) eERIcie, Fehl, T

(B) Wehl, At T, fasme

(C) e, T TS, SHATH

(D) WS |, Te, Hehl

.................... THTE- TS 2010 T § S
e 19 99 T A A & O T

YT Y D Y S FHM L B
(A) T SR
(B) Fa Ot
(C) e Hieh
(D) RET
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67.

68.

69.

70.

71.

72.

73.

OTP s used as one of the additional security
features for safe online transactions, What
is the full form of OTP ?

(A) Only Time Period
(B) One Time Period

(C) One Time Password
(D) Only Time Password
Saving is a process :

(A) To copy the document from memory
to storage medium

To print the present status of the
document

(C) To change entire form

(D) All of these

The CPU and memory are located on the :
(A) Expansion board

(B) Motherboard

(C) Storage device

(D) Output device

The acronym FTP stands for :

(A) File Transfer Protocol

(B) Fast Transfer Protocol

(C) File Tracking Protocol

(D) File Transfer Procedure

Which is the valid example of IP address ?
(A) 192.105.232.4

(B) www.example.com

(C) C:\example\exam\

(D) 44::98::77::12::88

................... printer form the image of the
page by spraying small droplets of ink from
the printer head.

(A) Dot Matrix

(B) Daisy wheel

(C) Chain

(D) InkJet

You can create appointments, arrange
meetings, and manage your time using
view in Outlook 2010.

(A) Mail (B) Design

(C) Backup (D) Calendar

(B)
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67.

68.

69.

70.

71.

72.

73.

AT 1 ST YUET S e &

forg srfafier qeen giaensti § 9w & &9

H foran ST €, et 1 Y w9 FME ?

(A) et 2z s

(B) @ 2EH WRTs

(C) a7 TEH THaE

(D) 3Tl 2y qrHee

He HET ThH IHa T

(A) mﬁﬁﬁﬂﬁﬁﬁ@iﬁmmﬁ
H & oy

(B) qmqu‘olﬁqdm—iﬁaﬁraﬁﬁ?mﬁ

% ferg

(C) YU @&Y g & fag

(D) 3 =t

iy IR TRt feord ¥

(A) THFIIEH € W

(B) TEEIE W

(C) wuery feard W

(D) Reye fearsd W

Tt 19 FTP o1 1k ©

(A) THEA TEE WS

(B) TR TR GEhid

(C) wEA %ﬁ:h‘rr EICEI

(D) TIEA TEE GIESR

ST TSH T A STV HIAET § ?
(A) 192.105.232.4

(B) www.example.com

(C) C:\example\exam\

(D) 44::98::77::12::88
................... fiizx, fi ¥ & ©e 7 9
92 fogmar I3 i Bfd oA T
(A) Tfe Az

(B) SSit g

(€) =

(D) EHSE

A

..............

2010 H
sTfgeHe o1 TR % éa%
Tt I T § SR ST T Yetd

T TR T
(B) fe=EA

(A) BS
(C) s (D) Ferex
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74.

75.

76.

77.

78.

79.

Why is it preferable to copy a file from a
CD to a hard disk and then open the copy
trom the hard disk ?

(A) Reading from a hard disk is faster
and safer.

A CD is easily transferable between
computers.

The computer cannot directly access
a file stored on a CD.

More data can be stored on a hard
disk.

Which of the following is not a correct
identity in Boolean algebra ?

(A) AB+ AB'=AB

B) (A+B)(A+B)=A

(C) A(A+B)=B

(D) A+AB=A

How can you write an email message in
Gmail ?

(A) By clicking on Inbox

(B) By clicking on Compose

(C) By clicking on Spam

(D) By clicking on Outbox

Which of the following option allows you
to select more than one slide in a
presentation ?

(A) Alt+click each slide

(B) Shift + drag each slide

(C) Shift + click each slide

(D) Ctrl + click each slide

MS-Access is an example of :

(A) Word Processing System

(B) BigData System

Database Management System
Both (A) and (B)

........ is a GUI based Operating System and
is a CUI based Operating System.
Windows 7, MS-DOS

MS-DOS, UNIX

UNIX, Windows NT

Windows 7, LINUX

(B)
©

(D)
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74.

75.

76.

77.

78.

79.

foret wea w1 WSt 9 o feww # wid

AT 3R TR Br€ femm | widt i Wi

Fi[ ABHW T ?

(A) o€ feh A TgT a9 IR Pem T

(B) T WISt &l g & o SEH 9
TYFTaRa fepan ST Hehen B

(C) FEXR WY HE W UL WA a6
T g ka1 T |

(D) we femr W s1fusw a1 WR fwan o
Hopell T |

e semfo # frefafea § § we

IEaH el e © 7

(A) AB + AB' = AB

B) (A+B)(A+B)=A

(C) AA+B)=B

(D) A+AB=A

3 e § $0a TeY Sy fora Td € ?

(A) SO W R e

(B) ®UN W frTh

(C) ¥m R fots =i

(D) 3T3aid T et i

Freafafea 5 9§ S fased ST Y™

Y Tw 9 Al TES hT T H HI

ST @ T ?

(A)  Alt + TF TES W fokreh LAl

(B) Shift + ¥ TS i T=T

(C) Shift + & TEE T T FHET

(D) Ctrl + T ES W foretesh Twel

THTH- TR 391 T Sl §

(A) =€ gHfeT faen

(B) fam ga1 fa=n

(C) S2o" YaEA Yoredt

(D) (A) ¥R (B) Ml

....... T GUI menfia siqfen fameq ¥ ein

T CUI sTenfia sirmfen fawen 1

A) faes 7, Toug-stg

(B) THTE-TH, Jf

(C) g, faes Tt

(D) faem 7, fomea
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80.

81.

82.

83.

84.

85.

86.

87.

What can happen if Windows Firewall is

turned off on your system ?

(A) You will not able to surf the internet.

(B) You can’t install any application
software on your system.

(C) Windows Firewall is useless and

nothing will happen.

Your system can more vulnerable to

damage from hackers and malicious

software.

Choose the correct option according to the

ascending order of storage capacity.

D)

(A) CD-RW < DVD < Blu Ray Disc
< Hard Disk

(B) CD-RW <DVD < Hard Disk < Blu
Ray Disc

(C) CD-RW < Blu Ray Disc < DVD
< Hard Disk

(D) DVD < Blu Ray Disc < Hard Disk
< CD-RW

To enter a new paragraph into a document,
press the key.

(A) CTRL (B) ALT
(C) ESC (D) ENTER
To delete a character from paragraph in a

document, press the .............. key.
(A) CTRL (B) ALT
(C) DELETE (D) ENTER

What is the full form of NTES ?

(A) Non Transfer File System

(B) New Technology File System
(C) Non Technical Folder System
(D) New Technology Folder System

What is another name for a computer
monitor ?

(A) UVD (B) VDU

(C) CCTV (D) DVU
What is the primary function of an
operating system ?

(A) Manage hardware resources

(B) Store user data

(C) Create software programs

(D) Connect to the internet

What type of memory is the main memory
of a computer system known to be ?

(A) Reserved (B) Restricted
(C) Non-volatile (D) Volatile
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81.

82.

83. fomelt

84.

85.

86.

87.

aﬁmﬁwwﬁ@ﬁwm@
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|
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(D) gqﬂaw’g

st quwum @ Hehal %l
HUSRU &A1 & STRIE! A & STTAR Tl
fareg g -

[aRIRN

(A)
(B)
©)
(D) EHEE < = 1 fem < 7 femn
< HiEl- ey
@Wﬁ@mﬁrmmﬁﬁ@

EikeCiE
(B) ALT

..............

(A) CTRL
(C) ESC

(A) CTRL (B) ALT
(C) DELETE (D) ENTER
1 0l &

(A) TR IR ﬁT{ETT

(B) v‘*’{\dqﬁlc'il\rll PIECT IH{dH

(C) =™ dIOHGh('I lhlc'\%{ NN«.H

(D) ?:dehﬂcucu el fed
e A T GE A1 F ¢ 7

(A) UVD (B) VDU

© CCTV (D) DVU
srRfen faey = wafys =& #=n § ?
(A) TSI FHEAT T GEF HEAT
(B) STANTHAl S WIRI HEAT

() ETEE&?H EIPICECEIE]]

(D) AT | TR T

fn:%;{ |H<¢Hﬁg@qﬁtﬁ'ﬁﬁmwaﬁ

A ST E 2
B) fifgws

A) o=
(C) ¥ derRREaA (D) dreEd
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88.

89.

90.

91.

92.

93.

Select the lowest memory size :
(A) Kilobyte (B) Megabyte
(C) None of these (D) Byte

Statement 1 : Hard disk is an example of

an Electromagnetic disk.

Statement 2 : Blu ray disk is an example

of Optical disk.

Choose the appropriate option from the

following :

(A) Statement 1 is correct and Statement
2 is incorrect.

(B) Statement 1 is incorrect and Statement
2 is correct.

(C) Both Statement 1 and Statement 2 is

incorrect.

(D) Both Statement 1 and Statement 2 is

correct.

Every component of the computer system

is either :

(A) Hardware or software

(B) Software or CPU/RAM

(C) Application software or system
software

(D) Inputdevices or output devices

Select the arrangement of the Network

Type in ascending order based on size and

span.

(R) LAN < PAN < MAN < WAN

(B) PAN < LAN < WAN < MAN

(C) PAN < LAN < MAN < WAN

(D) PAN < MAN < LAN < WAN

An XOR gate produces as output

when both inputs are different, and ............

when both inputs are the same.

(A 1,1 B) 0,0
©) 0,1 D) 1,0
Regarding storage units, which statements

are true ?

()  Primary storage units have faster
access time and less storage capacity
as compared to secondary storage
units.

Primary storage units have sequential
access.

Secondary storage units are non-
volatile storage.

(1) and (iii) only

(i) and (i1) only

All (1), (i1) and (ii1)

(i) and (iii) only
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88.
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91.
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93.
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Fr f9ey o1 g Heh
(A) TSR AT FFR
(B) WTeaRR a1 g/ m
(C) UwAhIM THTR A1 fo=q G
(D) =192 |so||5<1 1 3=y feary
R R fodR & MUR T SRS HH |
ea®h YHR i HGET T 91 HI9T
(A) LAN < PAN < MAN < WAN
(B) PAN < LAN < WAN < MAN
(C) PAN < LAN < MAN < WAN
(D) PAN<MAN<LAN<WAN
T& XOR 2 3Z2Ye & &9 H
ExGIRSE] '-iddm*ldm‘lﬁﬁ%
............. & ST gTYE 99 T T
B) 0,0
(D). 1.0
F HIY T DY FUA TA

.............

PIRIEED Wﬂaﬁsqﬂsq\iﬁﬁ%gqﬁlq%
T TR HH WSRO &7 Bl © |
TATHE YUSRU SHSAT H AR
(sequential) ToREH BIt gl

oo Ul shEal TR-aeREa
(non-volatile) USRI |

Had (i) 3R (iii)

Fad (i) R (ii)

T (1), (ii) 3R (iii)

Fad (i) R (iii)

(i)
(iif)

(A)

(B)
©
(D)

TP-1 | Contd.




9.

95s.

96.

97.

98.

99.

What do we call the dots that compose the

image of a digital photograph ?

(A) Pixels

(B) Resolution points

(C) Digital points

(D) Points

The printer output quality is measured in

terms of :

(A) Electromagnetic Index (EMI)

(B) Dots per Inches (DPI)

(C) Megahertz (MHz)

(D) Clock per second

The total number of function keys on the

keyboard is :

(A) 11 B) 12

C©) 13 (D) 14

What type of disk is a Compact Disk—

Recordable (CD-R) ?

(A) Write, erase, rewrite disk

(B) Write Once Read Many (WORM)
disk

(C) Semiconductor disk

(D) Read-only disk

Which expression does not represent the

exclusive NOR of x and y ?

(A) x®y' B) Xy

(C) xy+xy (D) XDy

It a signal passing through a gate is

inhibited by sending a low into one of the

inputs and the output is high, what gate is
it ?

(A) NOR (B) NAND
(C) OR (D) AND
100. The ........... folder retains copies of email

messages that you have started but are not
yet ready to send.
(A) Drafts

(C) Address Book

(B) Outbox
(D) Sent Items
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(A) NOR (B) NAND
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10.

Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Booklet. The candidate has to choose the
most appropriate answer and mark the same
in the OMR Answer-Sheet as per the
direction :

For Example :
Question :

.. ® @ © ©
2. ® ® @ ©

Illegible with
overwriting will be cancelled.

answers cutting and

In case the candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict directions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may not be processed or the examinee

may be declared disqualified in the exam.

The examinee shall hand over OMR Answer-
Sheet to the invigilator and can take carbon
copy of the OMR Answer-Sheet and question
booklet with himself.

Write your Scholar Number and other
required details in the space provided on the
title page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do
not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.
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